Soluon

BLM 305 Midterm Exam Nov 12,2019

(Duration: 90 minutes. No exchange of materials)

1. a) Make an Array bl, with elements 21, 13, 13, 21. Bu degerlerle Array b1 yapin.
bl=[2],13,13,21]

b) Make an empty Set s1 and add all the elements in bl above using “for”.
Bos bir Set s1 yapin, b1’deki degerleri “for” kullanarak tek tek ekleyin.

sl = hew et ()
Bor (ke x of BD  sladd )

¢) Write down the code to get the number of elements in bl and in s1. What is the result?
b1 ve s1 icindeki eleman sayisini bulan iki satir kod yazin. Sonug ne?

b, leagth — 4 § poperties (net metned|)

sl.sine —5 2

d) Explain the difference in (c).  (c)deki farki agiklayin.

r%M elements ol allowed M Sef

2. a) Complete the code below to determine k using t.split ()
Asagidaki k degerini, t igindeki satir sayisini bulacak sekilde tamamlayin

function result(t) {
console.log(t.length+" chars")
//find number of llnes in String t
let k = ... 4splAd ("\n")
ceonsole. log k+' lines™)

}

function response(r) {
console.log("response™)
return r.text ()

}

function read(f) {
fetch(f).then (response).then(result)
console.log("start")
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b) uis a URL to the remote file that contains "One\nTwo\nTen". Write the output of read (u) .

read (u) isleminin sonucunu yazin. (\n = line break)
shuct
r“fdf; onie
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3. Consider the declarations below: iki class tanimi verilmis:

class Point { class Rectangle |
/ /Cartesian coordinates x, vy / /north-west and south-east corners nw, se
constructor( RJ‘E J IR constructor( n ;s )|
Y, =x s, v = p
} Py = v }4%5‘5&:5
toString () { toString() {
return " ("+this.x+","+ this.y+"}" return this.nw+":"+ this.se

} 1
} }

a) Complete the constructors above so that the following code is correct.
Asagidaki kodu galistiracak sekilde class tanimlarini tamamlayin.

let p = new Point (13, 4)
let g = new Point (25, 8)
let r = new Rectangle(p, q)

b) Draw an object diagram for the three objects defined above. p, q, rigin nesne diyagrami gizin.
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¢) Predict the output of console.log(r) sonucunutahmin edin

(13,4):(25,%)

4. Array data contains a large number of Rectangle objects as defined in Question 3.

a) Determine the type of the values shown below in each Rectangle object:
data iginde ¢ok sayida Rectangle nesneleri var. Asagidaki degerlerin tlriini belirleyin:

nw FLfQ+'
se.x Nuwws bers
se.toString() 5djnr“2

b) Make an Array of Points in data with no repetition. (any Point will not appear more than once)
data iginde gegen noktalardan, tekrardan arinmisg bir Array yapin (ayni nokta iki kere gegmesin)

[eA o=[]
b (et x of Aotw) { |
10 (. inchodes () aprushc ne)
i€ () a.meludes (x,52)) a,push (%, 52)
]
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5. a) What is the difference between p defined in Question 3 and p2 defined below?
3. soruda verilen p ile asagida tanimlanan p2 arasindaki fark nedir?

let p = new Point (13, 4), x = 13,
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b) Given an array, write a function which returns a Map to count the occurrences.
Verilen Array iginde her degerin kag kere gegtigini gdsteren bir Map yapin.

y = 4, p2 = {x, y}

input: let a = [305, "FSM", p, 305, "BLM", p, p, "BLM", "FSM", "BLM"]

output: 305 => 2, FSM => 2, (13,4) => 3, BLM => 3

6. Write a function that calculates the union of two given Sets a and b.
Return a Set that contains elements in a, in b, or both. Do not modify a or b.
Verilen a ve b kiimelerinin birlesimini bulan bir fonksiyon yazin —a, b degismesin.
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